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Victor drives a distance of 21.45 miles everyday from home to his office. He moves into a new
apartment that is just 3.65 miles away from his office. Determine the distance by which Victor
has lessened his commute to the office.

Kent rents out an open-air pavilion to celebrate his daughter’s birthday. He makes a down
payment of $125.75 at the time of reservation. The total cost of renting the pavilion for the
event is $400.25. H he celebrations are over?
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According to official bowling rules of the Professional Bowlers Association, the circumference of a
ball shall not exceed 27.002 inches nor be less than 26.704 inches. What is the difference in
measurement between the maximum and the minimum circumference permitted?
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